HR N A E AR A Rt

& 2, Ak L

CIERIRZ

ok H S B FR A
T AT XOHT 25 A 162020756 51
TEL: 021-57640006 FAX: 57644031
www.freddie.net.cn



il e =, B

OW B H AR (AR LS R B H)

QW LR (AR LA R B HE)

W LA ot (AR LS R 5 H)

(D FL 7 v

BBk 47 & 1 R~F 4x2. 5) .6 & - R 6x4)
TPk 4B (B 1 RJ 4x2. 5) (6B (B 1 R~} 6x4)

PB|20| R | N |-|6J|—-|B6

@6 ® 6

Az B3, B4. B5. B6
W2 4. Bol (G1/8) . B02(G1/4)
B 2 BEIELL

1l 1:

il 2:

1 3:

%l 4:

VT 52 AR 1, WRAEE ] P3OFS, Easumikihidiaek, HEA 6 & T,
WAL M6 o
5 k. PB30FS—6]-B6

VI ZOREIR 1, W% ) PIOBN, ELZSumik i85k, W 6x4 B 1,
2 BENR AL MG o
75 % : PB10BN-6B-B6

T e XA CERAT, ARCREL, HESum AACESk, B b P30R W4 H
HIERIR L, RS M6,
=k PB30R-B6-B6

TI ]  AAEW CERAT, AR, HESum ARk, ANRCERR 2,
WAL M6 o
5 k. PB20-B6-B6



w5 d
PB1R()-4B/4J-B3 1
PB2R()-4B/4J-B3 2
PB3R()-4B/4J-B3 3
PB4R()-4B/4J-B3 4

it Rss L1
PB6R()-6J/6B-B4 7
PB8SR()-6J/6B-B4 5.5
PB8P()-6J/6B-B4 8 | 55
PB10P()-6J/6B-B4 10 | 5.8
PB15P()-6J/6B-B4 15 | 6.5
PB20P()-6J/6B-B4 20 | 7.3

iveS) d L1
PB10R()-6B/6J-B6 10
PB15R()-6B/6J-B6 15
PB4L()-6B/6J-B6 13.5
PB6L()-6B/6J-B6 6 | 135
PBS8L()-6B/6J-B6 8 | 135
PB10L()-6B/6J-B6 10 | 15.5
PB15L()-6B/6J-B6 15 | 15.5
PB10B()-6B/6J-B6 10 16
PB6LB()-6B/6J-B6 16.5
PBSLB()-6B/6J-B6 16.5
PB10LB()-6B/6J-B6 10 17
PB15LB()-6B/6J-B6 15 19

L—IX9N

o}
@
D

M4XO‘7W

18

28

—Hle

L1

IX9N

w
@
R

M4XO7T

26,

4
B
|

e
T
"
|

18

°8

+—Hie




5 d L1
PB20A()-6J/6B-B6 20 | 11
PB10AAG()-6J/6B-B6 | 10 | 11
PB15AAG()-6J/6B-B6 | 15 | 11
PB20AAG()-6J/6B-B6 | 20 | 13.5
PB10BAG()-6J/6B-B6 | 10 | 11
PB15BAG()-6J/6B-B6 | 15 | 11
PB20BAG()-6J/6B-B6 | 20 | 13.5
PB25AG()-6J/6B-B6 25 | 19.3
PB30AG()-6J/6B-B6 30 | 19.3
PB30BAG()-6J/6B-B6 | 30 | 16.3
PB40AG()-6J/6B-B6 40 | 19.3
PB50AG()-6J/6B-B6 50 | 19.3
PB20BF()-6J/6B-B6 20 | 125
PB25F()-6J/6B-B6 25 | 14
PB30F()-6J/6B-B6 30 | 12
PB35F()-6J/6B-B6 35 | 14
PB40F()-6J/6B-B6 40 | 14
PB50F()-6J/6B-B6 50 | 15
PB60F()-6J/6B-B6 60 | 21
PB80F()-6J/6B-B6 80 | 23
PB95F()-6J/6B-B6 95 | 235
PB30FO()-6J/6B-B6 29 | 12
PB20L()-6J/6B-B6 20 | 17.2
PB30L()-6J/6B-B6 30 | 17.2
PB40L()-6)/6B-B6 40 | 17.2
PB20R()-6J/6B-B6 20 | 10
PB25R()-6J/6B-B6 25 | 11
PB30R()-6J)/6B-B6 30 | 11
PB40R()-6J/6B-B6 40 | 14
PB50R()-6J/6B-B6 50 | 15

8

°8

14

P12
M6 X1
r 1
T
o
= |
1o ‘
| >
| - (o8]
. i
1
Mox1—=0 | | T
J 1
: ~
l i
]
e




PB10ABG()-6J/6B-B6 10 17
PB15ABG()-6J/6B-B6 15 | 195
PB20BG()-6J/6B-B6 20 | 195
PB30BG()-6J/6B-B6 30 | 305
PB40BG()-6J/6B-B6 40 | 305
PB50BG()-6J/6B-B6 50 | 365
PB75BG()-6J/6B-B6 75 46
PB20B()-6J/6B-B6 20 19
PB30B()-6J/6B-B6 30 23
PB40B()-6J/6B-B6 40 30
PB50B()-6J/6B-B6 50 32
PB30J()-6J/6B-B6 30 18
PB35J()-6J/6B-B6 35 18
PB40J()-6J/6B-B6 40 18
PB50J()-6J/6B-B6 50 20
PB60J()-6J/6B-B6 60 25
PB70J()-6J/6B-B6 70 26
PB80J()-6J/6B-B6 80 26
PB20LB()-6J/6B-B6 20 | 222
PB5C()-6J/6B-B6 5 13
PB7C()-6J/6B-B6 7 13.5
PB10C()-6J/6B-B6 9 18.3
PB15C()-6J/6B-B6 15 | 26.1
PB18C()-6J/6B-B6 19 | 26.3
PB20C()-6J/6B-B6 20 | 26.3
PB30C()-6J/6B-B6 32 | 375
PB40C()-6J/6B-B6 42 46
PB60C()-6J/6B-B6 62 55
PB20W()-6J/6B-B6 20 25
PB30W()-6J/6B-B6 30 | 385
PB4x10E()-6J/6B-B6 4x10 | 11
PB4x20E()-6J/6B-B6 4x20 | 11
PB4x30E()-6J/6B-B6 4x30 | 11
PB5x10E()-6J/6B-B6 5x10 | 11
PB5x20E()-6J/6B-B6 5x20 | 11
PB5x30E()-6J/6B-B6 5x30 | 11
PB6x10E()-6J/6B-B6 6x10 | 11
PB6x20E()-6J/6B-B6 6x20 | 11
PB6x30E()-6J/6B-B6 6x30 | 11
PB8x20E()-6J/6B-B6 8x20 | 11
PB8x30E()-6J/6B-B6 8x30 | 11

312
FL6_K
=
D
= L]
o '
>
T 0
T
_
MEXL—rmm| | T
— 3
3d
B1P
MEX]
r 1
T
.
= |
U\ "
=<
n @
T
o .
a7
MEX L= |
>




M8X1.25
L1
N
e d | L1 .
PB60R()-B01-B8 60 | 18 N :
,,,\‘ %
Gl/8— E/ He? g
MLOX1.5 0 ”
[ ] l% [
\
— |
260
217
M8X1.25
-
T
PBSOR()-B01-B8 80 | 23 0 -
PB100R()-B01-B8 100 | 25 =T @
Gl/BJE% He2
PB80B()-B01-B8 80 | 39 M”mr l#
<
|
\ 7
|
PB150R()-B02-B16 | 150 | 45 | o |
PB200R()-B02-B16 | 200 | 50
30
MLEXP
—
s
4 N
ﬁ» —
N ip
NS
A0
Gl/4 = | 3o
MeOX 2T
% ‘
- 7
|
|
|




#l2 d | L1
M-PB5AF()-6B/6J-B4 5 | 65
M-PB6AF()-6B/6J-B4 6 | 65
M-PB8AF()-6B/6J-B4 8 7
M-PB10AF()-6B/6J-B4 10 | 75
M-PB15AF()-6B/6J-B4 15 | 8
M-PB10AAG()-6B/6J-B4 | 10 | 7.5
M-PB10BAG()-6B/6J-B4 | 10 | 7.5
M-PB15AAG()-6B/6J-B4 | 15 | 7.5
M-PB15BAG()-6B/6J-B4 | 15 | 7.5
M-PB20AAG()-6B/6J-B4 | 20 | 10
M-PB20BAG()-6B/6J-B4 | 20 | 10
M-PB10ABG()-6B/6J-B4 | 10 | 13.5
M-PB15ABG()-6B/6J-B4 | 15 | 16

5

?5

@5

M4 =0,/

a
[QV|
Ll H1p
— U

k; | -

Dol
M4 %0,/
- 0
T cd
4KTM — ~_H10

L1

@
M4 x0./
[ D
I S
— m_H10
— 5
@&




M4x0./

M-PB4J()-6B/6J-B4

M-PB6J()-6B/6J-B4

M-PB8J()-6B/6J-B4

M-PB5C()-6B/6J-B4 5 | 95

M-PB7C()-6B/6J-B4 | 7 | 10




ERs d L1
M-PB15F()-6B/6J-B4 15 8
M-PB20F()-6B/6J-B4 20 10
M-PB20FO()-6B/6J-B4 20 10
M-PB20BG()-6B/6J-B4 20 19.5
M-PB10J()-6B/6J-B4 10 9.5
M-PB15J()-6B/6J-B4 15 11
M-PB20J()-6B/6J-B4 20 13
M-PB25J()-6B/6J-B4 25 15.5
M-PB10C()-6B/6J-B4 9 18.3
M-PB15C()-6B/6J-B4 15.2 | 26.1
M-PB18C()-6B/6J-B4 18.6 | 26.3
M-PB20C()-6B/6J-B4 20 26.3

M4X(Q.7
]

H10

ee




32

L1

32

L1

Uhs) d L1
M-PB25AG()-6B/6J-B6 25 | 19.3
M-PB30AG()-6B/6J-B6 30 | 19.3
M-PB30BAG()-6B/6J-B6 | 30 | 16.3
M-PB40AG()-6B/6J-B6 40 | 19.3
M-PB50AG()-6B/6J-B6 50 | 19.3
M-PB20BF()-6B/6J-B6 20 | 125
M-PB25F()-6B/6J-B6 25 | 14
M-PB30F()-6B/6J-B6 30 | 12
M-PB35F()-6B/6J-B6 35 | 14
M-PB40F()-6B/6J-B6 40 | 14
M-PB50F()-6B/6J-B6 50 | 15
M-PB60F()-6B/6J-B6 60 | 21
M-PB80F()-6B/6J-B6 80 | 23
M-PB95F()-6B/6J-B6 95 | 235
M-PB30FO()-6B/6J-B6 29 | 12
M-PB20L()-6B/6J-B6 20 | 17.2
M-PB30L()-6B/6J-B6 30 | 17.2
M-PB40L()-6B/6J-B6 40 | 17.2
M-PB20R()-6B/6J-B6 20 | 10
M-PB25R()-6B/6J-B6 25 | 11
M-PB30R()-6B/6J-B6 30 | 11
M-PB40R()-6B/6J-B6 40 | 14
M-PB50R()-6B/6J-B6 50 | 15
M-PB30C()-6B/6J-B6 32 | 375
M-PB40C()-6B/6J-B6 42 | 46
M-PB60C()-6B/6J-B6 62 | 55

32

Ll




32

[

32

L1

32

11

43

M-PB30BG()-6B/6J-B6 30 | 305
M-PB40BG()-6B/6J-B6 40 | 305
M-PB50BG()-6B/6J-B6 50 | 36.5
M-PB75BG()-6B/6J-B6 75 46
M-PB20B()-6B/6J-B6 20 19
M-PB30B()-6B/6J-B6 30 23
M-PB40B()-6B/6J-B6 40 30
M-PB50B()-6B/6J-B6 50 32
M-PB30J()-6B/6J-B6 30 18
M-PB35J()-6B/6J-B6 35 18
M-PB40J()-6B/6J-B6 40 18
M-PB50J()-6B/6J-B6 50 20
M-PB60J()-6B/6J-B6 60 25
M-PB70J()-6B/6J-B6 70 26
M-PB80J()-6B/6J-B6 80 26
M-PB20LB()-6B/6J-B6 20 | 22.2
M-PB4x10E()-6B/6J-B6 | 4x10 | 11
M-PB4x20E()-6B/6J-B6 | 4x20 | 11
M-PB4x30E()-6B/6J-B6 | 4x30 | 11
M-PB5x10E()-6B/6J-B6 | 5x10 | 11
M-PB5x20E()-6B/6J-B6 | 5x20 | 11
M-PB5x30E()-6B/6J-B6 | 5x30 | 11
M-PB6x10E()-6B/6J-B6 | 6x10 | 11
M-PB6x20E()-6B/6J-B6 | 6x20 | 11
M-PB6x30E()-6B/6J-B6 | 6x30 | 11
M-PB8x20E()-6B/6J-B6 | 8x20 | 11
M-PB8x30E()-6B/6J-B6 | 8x30 | 11

10




11

i d | L1 |
M-PB60F()-B01-BS 60 | 185
M-PB80F()-B01-BS 80 | 20.5 _
M-PB95F()-B01-BS 95 | 21 N N
'777: Hel
M10X1.25 |
|
‘ ~
_
M-PB75BG()-B01-B8 | 75 | 43.5
M-PB60J()-B01-B8 60 | 22.5 o
=
M-PB70J()-B01-B8 70 | 235 o
M-PB80J()-B01-B8 80 | 235 el
M10X1.25
[
| —
|
|
‘ @d
ny
M-PB100F()-B01-B12
PP
M18T176
| 19532 0
Gl/8— | —
|
[ M
R m
| |
[ o
o i \ ‘
\D ‘
?100
9104




ths d L1
M-PB120F()-B01-B16 120 | 25.5
M-PB150F()-B01-B16 | 150 | 32.5
M-PB200F()-B01-B16 | 200 | 37.5
70
? 30
MIGX 2
o o
. -
‘ | = 0Gl/8 @
! —
| \ .
=n N .
0l

12






